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| SHOW ALL YOUR WORK. NO CREDITS FOR ANSWERES WITHOUT JUSTIFICATIONS |
Problem& (16 points) Find the limit if it exists
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Problem 2: (4 points) Sketch the graph of a function f that satisfies all of the following

conditions:
a. .lin}f(x)=—°0, 1ir1'21_f(x)=3, _lir{11+f(x)=—°°, ‘lin_lrf(x)=°°

b. xli%rr}&f(x)ﬂ?, f(9=2, lmf&)=c
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Problem 3: (4 points) Use the € — 0 definition of limit to show that lim (2-3x)=-1,
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-Problem 4: (4 points) Find all values of » which make the function continuous at 1.
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Problem S: (4 points) Consider the function / (x) =%+—1. E ”B&% _ 23
a. Find all values of x where the function is discontinuous and state the type of
each one.
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b. Find all vertical asymptotes of the function.
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Problem 6: (4 points) If li_)m2 =3, find lin% g(x ). Justify your answer.
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Problem 7: (4 points) Use the Intermediate Value Theorem to show that the two
functions f(x )=x°+2 andj(x )=5x" -1 intersect between x =—landx =2.
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